

1. $2xy + \ln y - \cos x$

$$\frac{d}{dx} = 2y + \sin x$$

$$\frac{d}{dy} = 2x + \frac{1}{y}$$

2. $\sin(x-y)$

$$\frac{d}{dx} = \cos(x-y)$$

$$\frac{d}{dy} = -\cos(x-y)$$

3. $\frac{1}{xy} + \ln x = (xy)^{-1} + \ln x$

$$\frac{d}{dx} = -y^{-1} x^{-2} + \frac{1}{x} = \frac{1}{x^2 y} + \frac{1}{x} \quad ?$$

$$\frac{d}{dy} = -\frac{1}{xy^2}$$

4. $\ln(x^2 - y^2)$

$$\frac{d}{dx} = \frac{1}{x^2 - y^2} \cdot 2x = \frac{2x}{x^2 - y^2}$$

$$\frac{d}{dy} = \frac{2y}{x^2 - y^2}$$

5. $\frac{x^2}{y^2} = x^2 \cdot y^{-2}$

$$\frac{d}{dx} = \frac{2x}{y^2}$$

$$\frac{d}{dy} = \cancel{\frac{2x}{y^2}} - 2x \cdot y^{-3} = -\frac{2x}{y^3}$$

6. $\cos xy$

$$\frac{d}{dx} = -\sin xy \cdot y = -y \sin(xy)$$

$$\frac{d}{dy} = -\sin(xy)$$

7. $e^{(1-x^2)y}$

$$\frac{d}{dx} = e^{(1-x^2)y} \cdot (-2xy) = -2xy e^{(1-x^2)y}$$

$$\frac{d}{dy} = e^{(1-x^2)y} \cdot (1-x^2) = (1-x^2) e^{(1-x^2)y} \quad ?$$

$$e^{(1-x^2)y} \cdot (-2xy) = -2xy e^{(1-x^2)y}$$

$$\frac{d}{dy} = e^{(1-x^2)y} \cdot (1-x^2) = (1-x^2) e^{(1-x^2)y} ?$$

3.21

1. $2xy + \sin x - \cos x$

$$\frac{2y + \sin x}{dx^2} = \cos x$$

$$\frac{2x + y^{-1}}{dy^2} = -y^{-2} = -\frac{1}{y^2}$$

~~scribbled out text~~

$$\frac{d^2}{dx dy} = \frac{2y + \sin x}{dy} = 2$$

$$\frac{d^2}{dy dx} = \frac{2x + y^{-1}}{dx} = 2$$

2. $\sin(x-y)$

$$\frac{d^2}{dx^2} = \frac{\cos(x-y)}{dx} = -\sin(x-y)$$

$$\frac{d^2}{dy^2} = \frac{-\cos(x-y)}{dy} = -\sin(x-y)$$

$$\frac{d^2}{dx dy} = \frac{\cos(x-y)}{dy} = \sin(x-y)$$

$$\frac{d^2}{dy dx} = \frac{-\cos(x-y)}{dx} = \sin(x-y)$$

3. $\frac{1}{xy} + \ln x$

$$\frac{d^2}{dx^2} = \frac{xy^{-1}}{x^2 y} =$$

$$5 \quad \frac{x^2}{y}$$

$$\frac{d^2}{dx^2} = \frac{2xy^{-2}}{dx} = 2y^{-2} = \frac{2}{y^2}$$

$$\frac{d^2}{dy^2} = \frac{-2x^2y^{-3}}{dy} = -6x^2y^{-4} = -\frac{6x^2}{y^4}$$

$$\frac{d^2}{dxdy} = \frac{2xy^{-2}}{dy} = -4xy^{-3} = -\frac{4x}{y^3}$$

$$\frac{d^2}{dydx} = \frac{-2x^2y^{-3}}{dx} = -\frac{4x}{y^3}$$

$$6 \quad \cos xy$$

$$\frac{d^2}{dx^2} = \frac{-y \sin(xy)}{dx} =$$

$$7. \quad e^{(1-x^2)y}$$

$$\frac{d^2}{dx^2} = \frac{-2xy \cdot e^{(1-x^2)y}}{dx} =$$

33

$$1. \text{ Najdi } f(x, y) = 2xy - 2x - 4y$$

$$\frac{d}{dx} = 2y - 2$$

$$2y - 2 = 0 \Leftrightarrow y = 1$$

$$2x - 4 = 0 \Rightarrow x = 2$$

$$\frac{d}{dy} = 2x - 4$$

$$\text{SB } [2, 1]$$

$$\frac{d^2}{dx^2} = \frac{2y - 2}{dx} = 0$$

$$\frac{d^2}{dxdy} = \frac{2y - 2}{dy} = 2$$

$$\frac{d^2}{dy^2} = \frac{2x - 4}{dy} = 0$$

$$\frac{d^2}{dydx} = \frac{2x - 4}{dx} = 2$$

$$H = \begin{pmatrix} 0 & 2 \\ 2 & 0 \end{pmatrix}$$

$$D = 0 \cdot 0 - 2 \cdot 2 = -4$$

$[2, 1]$ nie je stacionárny bod

$$2 f(x,y) = 2x^3 + 3y^2 - 6xy$$

$$\frac{d}{dx} = 6x^2 - 6y$$

$$\frac{d}{dy} = 6y - 6x$$

$$\frac{6x^2 - 6y = 0}{6y - 6x = 0}$$

$$6x^2 - 6x = 0$$

$$\Delta = b^2 - 4ac = 36$$

$$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{6 \pm 6}{12} \Rightarrow \begin{matrix} x_1 = 0 \\ x_2 = 1 \end{matrix}$$

$$S_1: 6y - 6x < 0, x < 0 \quad S_2: 6y - 6x < 0 \quad x < 1$$

$$y = 0$$

$$6y - 6 < 0$$

$$y < 1$$

$$[0, 0]$$

$$S_2 [1, 1]$$

Skalar

$$\frac{d^2}{dx^2} = 12x$$

$$\frac{d^2}{dy^2} = -6$$

$$\frac{d^2}{dxdy} = -6$$

$$H = \begin{pmatrix} 12x & -6 \\ -6 & 6 \end{pmatrix} = \begin{pmatrix} 0 & -6 \\ -6 & 6 \end{pmatrix}$$

$$D = 0 \cdot 6 - 36 = -36 \quad S_1 \text{ ma je stac. bod}$$

$$S_2: \begin{pmatrix} 12x & -6 \\ -6 & 6 \end{pmatrix} = \begin{pmatrix} 12 & -6 \\ -6 & 6 \end{pmatrix} = 12 \cdot 6 - 36 = 72 - 36 = 36 \quad S_2 \text{ minimum?}$$

$$3. f(x,y) = x^2 + 4xy + 6y^2 - 2x + 8y - 5$$

$$\frac{d}{dx} = 2x + 4y - 2$$

$$\frac{d}{dy} = 4x + 12y + 8$$

$$2x + 4y - 2 = 0 \Rightarrow 2x - 12 - 2 = 0$$

$$4x + 12y + 8 = 0$$

$$-4x - 8y + 4 = 0$$

$$4x + 12y + 8 = 0$$

$$4y + 12 = 0$$

$$y = -3$$

$$S_3 [7, -3]$$

$$\frac{d^2}{dx^2} = 2 \quad \frac{d^2}{dy^2} = 12$$

$$\frac{d^2}{dxdy} = 4$$

$$H = \begin{pmatrix} 2 & 4 \\ 4 & 12 \end{pmatrix} \quad D = 2 \cdot 12 - 4 \cdot 4 = 24 - 16 = 8$$

S_3 je minimum

4. $f(x, y) = 5 + 6x - 4x^2 - 3y^2$

$\frac{d}{dx} = 6 - 8x$

$x = \frac{6}{8} = \frac{3}{4}$

$\frac{d^2}{dx^2} = -8$

$\frac{d}{dy} = -6y$

$y = 0$

$\frac{d^2}{dy^2} = -6$

SRB $[\frac{3}{4}, 0]$

$H = \begin{pmatrix} -8 & 0 \\ 0 & -6 \end{pmatrix} = -8 - 6 = -14$

SRB je maximum

5. $f(x, y) = 8x^3 + y^3 - 6xy + 4$

$\frac{d}{dx} = 24x^2 - 6y$

$24x^2 - 6y = 0$

$\frac{d}{dy} = 3y - 6x$

$3y - 6x = 0 \Rightarrow y = 2x$

$24x^2 - 6 \cdot 2x = 0$

$24x^2 - 12x = 0$

$\Delta = b^2 - 4ac = 12^2 - 0 = 144$

$x_{1,2} = \frac{-b \pm \sqrt{\Delta}}{2a} = \frac{6 \pm 12}{48}$

$= \frac{18}{48} = \frac{3}{8}$
 $= \frac{-6}{48} = -\frac{1}{8}$

SRB

6. $f(x, y) = x(x-6) + y(y-9) + xy$
 $= x^2 - 6x + y^2 - 9y + xy$

$\frac{d}{dx} = 2x - 6 + y$

$2x - 6 + y = 0 \Rightarrow y = 6 - 2x$

$\frac{d}{dy} = 2y - 9 + x$

$2y - 9 + x = 0$

$y = 6 - 2$
 $= 4$

SRB

$2(6 - 2x) - 9 + x = 0$

$6 \cdot 12 - 4x - 9 + x = 0$

$-3x = -3$

$x = 1$

SRB $[1, 4]$

$\frac{d^2}{dx^2} = 2$

$\frac{d^2}{dy^2} = 2$

$H = \begin{pmatrix} 2 & 1 \\ 1 & 2 \end{pmatrix} = 2 \cdot 2 - 1 \cdot 1 = 3$

$\frac{d^2}{dx^2} = 2$

$\frac{d^2}{dy^2} = 2$

SRB je minimum